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M.A. (Previous) Examination, 2022
Economics
Paper Fifth

(Demography)

Time : Three Hours] [Maximum Marks:100

 


Note: Attempt all the five questions. One question
from each unit is compulsory. All questions
carry equal marks.

1/Unit - 1

1.     


Define Demography. Explain its scope and importance.
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/OR



Critically explain Malthusian theory of population.

2/Unit - 2

2. 


What do you mean by fertility? What are the causes of
high birth rate in India? Explain.

/OR

     


  

15 -19 21,000 420

20 - 24 24,000 2,400

25 - 29 27,000 4,050

30 - 34 30,000 3,000

35 - 39 24,000 1,680

40 - 44 18,000 900

45 - 49 6,000 60
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From the data given below calculate the General
fertility rate, specific fertility rate, Total fertility rate.

Age Group Female population No. of live Births

15 -19 21,000 420

20 - 24 24,000 2,400

25 - 29 27,000 4,050

30 - 34 30,000 3,000

35 - 39 24,000 1,680

40 - 44 18,000 900

45 - 49 6,000 60

3/Unit - 3

3. 


What do you understand by Mortality? What is the im-
portance of Mortality data?

/OR
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

Explain the various methods of Mortality Measurement.

4/Unit - 4

4. 


How far do you agree with the statement that rapid
increase in population of India is a great hurdle in the
way of country's progress?

/OR




What do you understand by urbanisation? Explain the
factors affecting it.

5/Unit - 5

5. 
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What are the various indicators of women Empower-
ment.?  Explain.

/OR



Discuss the determinants of wage differentials.


